
5402, 5402A, 
5402B 

540265101 

5402A5071 

41111111r___,(-"-"I 

INSTANT LIGHTING LP-GAS 
PICNIC STOVE 
(ONE BURNER) 

5402131181 

*5404-2181  

5404-1121 
• 

5404 - 5051 

220B175 
--5402-127    

-200-6491 

*5404-5091 

\ 5402 - 1211 

1012 61016 

101261004 

Model 5402 (Green) 
(Discontinued) 

STOVES 

5402A5041 

L 5402 - 5031 

- 5101E102 

5402 - 1221 COLEMAN STOVES 

1202-771.-4. 

Model 5402B (Pink) 
(Discontinued) 

5402-1181 
Not Avail. 

5402 - 2181 

5402 - 133  

220B175 
5402-127 

200 - 6491 

..5402A5091 
Not Available 

5402 - 5101 
5402115101 

5402 - 5071 ** Not AaiI.  

5402 A5071 

5402-1221 

5402 - 5041 ** Not Avail. 
5402A5041 

1012131004 

/5402 - 5031 

- 5101E102 ® 

PARTS LIST 

5402 -1211 

1012 61016 

1212 002.-„
„k. 

 

0 Quantity of Parts Used in Assembly 

Parts Not Shown: 

5404 - 6201 Valve Stern Packing 

Model 5402A (Pink) 

(Discontinued) 

MODEL 
FINISH 

(Enamel) 

DIMENSIONS 
, i  PACKAGED 

Height Width Depth 
0.,............... 

5402- 

, 

Forest Green 

. 

5" 12" 7" 

, 
1 per carton 

with 
2 fuel cartridges 

5402A Patio Pink 5" 12" 7" 

540213 Patio Pink 5" 12" 7,,, 

8B119 Forest Green Enamel - Pressurized Spray. 5402 
8B150 Patio Pink Enamel - Pressurized Spray.. 5402A, 5402B 
118B6201 Packing - Replaced by 5404-6201 
200 - 6491 Valve Wheel All Stoves 
220B175 Self-Tapping Screw (#4-40 x 'Yn;")  All Stoves 
1012 B1004 Screw (Supply Connector) (#10-24 x 1/4" 

Tr. Hd )    All Stoves 
1012 B1016 Screw (#10-24 x 1" Tr. Hd )  All Stoves 
1202 - 771 Lock Washer (#10 - Medium) 5402 
1212 - 002 Grommet  All Stoves 
5101E102 LP-Gas Cartridge    All Stoves 

**5402 - 1181 Mixing Tube - Not Available  5402, 5402A 
5402 - 1211 Spacer All Stoves 
5402 1221 Burner Bowl   All Stoves 
5402 - 127 Direction Disc    All Stoves 
5402 - 133 Filter  5402, 5402A  

5402-2181 Gas Tip (Marked "TH") 5402, 5402A 
5402 - 5031 Supply Connector  All Stoves 

*5402 5041 Vaporizer Tube - Not Available 5402 
*54025071 Burner - Not Available, see note below. 5402 

5402 - 5101 Grate 5402 

"5402A5041 Vaporizer Tube    *5402A, 5402B 

*5402A5071 Burner *5402A, 5402B 

**5402A5091 Valve Complete - Not Available 
**MO B1181 Mixing Tube    *"5402B 

5402 B5101 Grate 5402A, 5402B 
5402 B5091 Valve - Replaced by 5404,5091  5402B 
5404 - 1121 Tip Cleaner Spring  5402B 
5404 - 2181 Gas Tip  5402B 
5404 - 5051 Needle and Holder 5402B 

**5404 - 5091 Valve Complete    **5402B 
5404 - 6201 Valve Stem Packing  All Stoves 

*The 5402A5041 Vaporizer Tube and 5402A5071 Burner USED TOGETHER are interchangeable with the 5402-5041 Vaporizer Tube and 5402-5071 

Burner. 

**The 5404-5091 Valve and 5402B1181 Mixing Tube USED TOGETHER are interchangeable with the 5402A5091 Valve and 5402-1181 Mixing Tube. 
This gives automatic tip cleaner operation. 

9 

www.OldColemanParts.com

www.OldColemanParts.com


	Page 1

